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Ideals for irreducible component#ﬂ)f Xpar

= —u™ 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 77 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
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u14 + 2u12 + 3U10 + 2U8 _ ’U,Q

—u3t — 6u?? + - — 18u° — 6u?
—u3t —5u? + -+ 2ud +u

B+ 2utt + 3+ 20" —u
—u3 —5u® . 4 2u% + 1
—u?? —6u30 + - — 18ub — 6u?

w4+ 13u™ -+ 3u2+ 1
ayl = u —u™ o 2u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u™ — 4u™ + .. + 12u — 2

c—u—1)

u' + 3ul? + 6ulo + 7ud + 6ul + 4ut 4+ 2u2 + 1>

wl® + 3utd + 6ult + 70 + 6u” + 4u® + 2ud + u)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cq W +2mu "+ —Bu—1
C2,C7 uT w4 w1
c3, Cs Wl — w4 41250+ 37
C4, €10, C11 uT U 4 3u
Cs, C12 uT—5u" - — 1000w + 112
€9 u™ = TuC 4 4 T0Tu — 55




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Ce y ATy —y—1
C2,C7 YT 2Ty =By — 1
€3,Cs Y™ —53y"C 4 ... — 24557y — 1369
€1, €105 C11 YT +63y"0 - =5y —1
cs, C12 Y 4 55y ... — 254176y — 12544
€9 Y —13y™ -+ 127499y — 3025




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
= —0.767529 4 0.6400281 6.28167 + 3.644311 0
= —0.767529 — 0.6400281 6.28167 — 3.644311 0
= 0.796599 + 0.6027341 0.58640 — 9.949091 0
= 0.796599 — 0.6027341 0.58640 + 9.949091 0
= —0.790354 4 0.5963561 —3.97378 4 5.750461 0
= —0.790354 — 0.5963561 —3.97378 — 5.750461 0
= 0.714241 + 0.7233771 4.65576 + 2.808311 0
= 0.714241 — 0.7233771 4.65576 — 2.808311 0
= 0.779593 4 0.5876911 —0.83188 — 1.514441 | —4.00000 + 0.1
= 0.779593 — 0.5876911 —0.83188 4+ 1.514441 | —4.00000 + 0.1

= 0.739590 + 0.6142931

0.54882 — 2.320851

—4.00000 + 4.357191

0.739590 — 0.6142931

0.54882 + 2.320851

—4.00000 — 4.357191

= —0.355189 + 0.8856871 —0.13092 — 6.424091 —6.49563 + 7.554591
= —0.355189 — 0.8856871 —0.13092 + 6.424091 —6.49563 — 7.554591
= 0.053490 + 1.0541001 0.50982 + 3.181831 0
= 0.053490 — 1.0541001 0.50982 — 3.181831 0
= —0.018030 + 1.0724301 —4.95935 — 1.551321 0
= —0.018030 — 1.0724301 —4.95935 + 1.551321 0

0.309910 + 0.8698851

—4.29728 + 2.468331

—11.58640 — 4.775851

0.309910 — 0.8698851

—4.29728 — 2.468331

—11.58640 + 4.775851

= —0.722298 4 0.7995691

1.242630 + 0.1726661

0

—0.722298 — 0.7995691

1.242630 — 0.1726661

0

—0.667595 + 0.6179311

0.079449 — 0.6066251

—4.37867 + 4.133361

—0.667595 — 0.6179311

0.079449 + 0.6066251

—4.37867 — 4.133361

—0.244459 + 0.8722871

—0.63700 + 1.408171

—7.77578 + 0.800991

—0.244459 — 0.8722871

—0.63700 — 1.408171

—7.77578 — 0.800991

S| || |e|g|2 || (g|g|g|g |2 |g|g|g|g|g8|g|g|g|g|g|g|ge |

= 0.742292 + 0.8088381 5.79449 — 3.807951 0
= 0.742292 — 0.8088381 5.79449 + 3.807951 0
= 0.695161 + 0.8548281 3.60047 4 2.667871 0
= 0.695161 — 0.8548281 3.60047 — 2.667871 0




Solutions to I V—1(vol + /—1CS) Cusp shape
= 0.635891 4 0.9038121 3.88187 + 2.399541 0
= 0.635891 — 0.9038121 3.88187 — 2.39954T1 0
= —0.036950 4 1.1089301 —6.70754 — 0.494201 0
= —0.036950 — 1.1089301 —6.70754 + 0.494201 0
= 0.047933 4 1.1095201 —9.95665 + 4.789771 0
= 0.047933 — 1.1095201 —9.95665 — 4.789771 0
= —0.056065 + 1.1091907 —5.46749 — 9.037321 0
= —0.056065 — 1.1091901 —5.46749 + 9.037321 0
= —0.733136 + 0.8608551 9.52540 — 2.784091 0
= —0.733136 — 0.8608551 9.52540 + 2.784091 0
= —0.708955 4+ 0.9074911 0.91799 — 5.635461 0
= —0.708955 — 0.9074911 0.91799 + 5.635461 0

—0.696328 4 0.4800211

—1.53055 + 1.075981

—4.35115 — 0.386661

—0.696328 — 0.4800211

—1.53055 — 1.075981

—4.35115 + 0.38666.1

= 0.724452 + 0.9068111 5.49817 + 9.377011 0
= 0.724452 — 0.9068111 5.49817 — 9.377011 0
= 0.659555 + 0.9641281 3.92779 + 2.480331 0
= 0.659555 — 0.9641281 3.92779 — 2.480331 0

0.686146 + 0.4508241

—4.87661 + 3.112331

—17.53324 — 3.625411

0.686146 — 0.4508241

—4.87661 — 3.112331

—7.53324 4 3.625411

—0.604287 4 1.0310101

—2.08704 + 2.386891

0

—0.604287 — 1.0310107

—2.08704 — 2.386891

0

—0.681244 - 0.4274321

—0.45981 — 7.281301

—2.78236 + 6.052981

—0.681244 — 0.4274321

—0.45981 + 7.281301

—2.78236 — 6.052981

S| g|g|g || |g(e|g|e g2 |e|g|g|g|g|e|g|g|g|g|g|ge =

= —0.650396 + 1.0088201 —1.06542 — 4.562851 0
= —0.650396 — 1.0088201 —1.06542 4 4.562851 0
= 0.612519 + 1.0328101 —6.46139 4 1.854211 0
= 0.612519 —1.0328101 —6.46139 — 1.854211 0
= —0.622370 + 1.0344901 —3.06619 — 6.131661 0
= —0.622370 — 1.0344901 —3.06619 + 6.13166.1 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u= 0.668586 + 1.0210101 —0.65211 4 7.708251 0
u= 0.668586 — 1.0210101 —0.65211 — 7.708251 0
u = —0.684993 + 1.0185207 5.14995 — 9.160041 0
u = —0.684993 — 1.0185201 5.14995 4+ 9.160041 0
u = 0.674345 4 1.0405701 —2.17378 4+ 7.015161 0
u= 0.674345 — 1.0405701 —2.17378 — 7.015161 0
u = —0.680506 + 1.0415407 —5.29992 — 11.302701 0
u = —0.680506 — 1.0415407 —5.29992 + 11.302701 0
u= 0.684731 + 1.0415501 —0.7247 + 15.53361 0
u= 0.684731 — 1.0415501 —0.7247 — 15.53361 0

u = 0.513241 4+ 0.3343601

4.82076 + 1.756331

2.56531 — 3.983881

u = 0.513241 — 0.3343601

4.82076 — 1.756331

2.56531 + 3.983881

u = —0.255361 + 0.4637981

—0.166525 — 0.8550751

—3.98465 + 7.893011

u = —0.255361 — 0.4637981

—0.166525 + 0.8550751

—3.98465 — 7.893011

u = —0.495154 4 0.0735281

2.07428 + 3.612101

0.95126 — 2.739241

u = —0.495154 — 0.0735281

2.07428 — 3.612101

0.95126 + 2.739241

u= 0.465846

—1.94396

-3.97790




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce w27 o —Bu— 1
C2,C7 T 4+ —u
3, Cs W= 412504 37
C4,C10,C11 W+ 4+ 3u+1
cs, C12 W= 5u™ 4. — 1000w + 112
€9 u" = Tu 4+ T0Tu — 55




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,C T ATy oy — 1
Ca, 07 Yy T4+ 27y" . By —1
cs, Cs YT —53y™0 ... — 24557y — 1369
4, C10,C11 YT 4+63y 4. by —1
Cs, C12 Y+ 55y70 + ... — 254176y — 12544
Co YT — 13y + .- 4 127499y — 3025




